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BACHELOR'S DEGREE IN LIBRARY 

AND INFORMATION SCIENCE 

Term-End Examination 

June, 2015 

BLS-6 : INFORMATION SERVICES 

Time : 3 hours 	 Maximum Marks : 70 

Note : Answer all questions. All questions carry equal 
marks. Illustrate your answers with suitable 
examples and diagrams, wherever necessary. Write 
the relevant question number before writing the 
answer. 

1.1 Define information. Enumerate a few 
organisations that generate information. 
Describe the process of information generation. 

OR 

1.2 What do you understand by the term 
value-added information services ? Discuss the 
processes that enable value-addition in 
information services. 
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2.1 Discuss the impact of new technologies on 
information services. 

OR 

2.2 What do you understand by 'information 
infrastructure' of a country ? Show your 
understanding of the concepts 'documentation 
centre'. and 'information centre'. Discuss their 
relation and difference with a library. 

3.1 What is information service ? Discuss its need 
and purpose. 

OR 

3.2 Write an essay on the organisation and 
management of reference service. 

4.1 Define SDI. Discuss its functional components. 

OR 

4.2 What is information retrieval ? Enumerate the 
factors that make information retrieval difficult. 
Discuss how computer databases help in 
information retrieval. 

5.0 Write short notes on any three of the following 
(in about 300 words each) : 
(a) Data and Information 
(b) Value of Information Services 
(c) Translation Service 
(d) Document Delivery Service 
(e) Newspaper Clipping Service 
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